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1. (6 points) Consider the following set of 17 preference ballot lists:

| 7 5 4 1
Istchoice |A C B D
2ndchoice | D A C B
3rdchoice [B B D A
dthchoice |C D A C

Calculate the winner (if any) using:

1.

Condorcet’smethod. A/ WinYgy

. Plurality Voting. £\

. The Borda count. A

. Sequential pairwise voting with agenda A, B, D, C. C
. The Hare system. A

. The plurality runoff.

Use the above to show that the Hare system fails to satisfy the monotonicity
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2. (4 points) Consider the following sequence of 4 preference ballot lists:

|1 1 1 1
Istchoice |[B C C A § =1
2Zndchoice | A A D D Y -5
3rd choice | B B B _y -9
4thchoice | C D A C

1. Find the winner using Borda count.

A

2. Suppose we change the ways we assign points so that first place is worth
8 points, second place is worth 4 points, third place is worth -4 points and
fourth place is worth -8 points. Find the winner using Borda count using
these new numbers.

Az YirU+(-8)46 = 3 A s e
B2 f4 () +(-u) £ (W = =Y WANYg |

C=- -343+8 -8 = O |

D= -41-8 +tU4Wn = —U

3. Suppose we change the ways we assign points so that first place is worth -
1 points, second place is worth -5 points, third place is worth -9 points and
fourth place is worth -13 points. Find the winner using Borda count using
these new numbers.

P -85-5 13 =) 7 — <Y
po -1 = F-9-9 -~ 28
C= —13—1-1-13 = =28

t

D: ~F —13-5-¢ = -3%2
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3. (3 points) 1. What are the desirable properties in the 2 candidates voting sys-
tem?
1- Anonyamiby
7 _ Newkrrsality
3 - hanconici -\':9\ .
Y- Deeisiveness -

2. Explain why dictatorship method (one voter is a dictator and his vote yields
the winner) doesn't satisfy all the conditions above.

He wil ¢haase Yo Winmg/ yesardlas o
Pl otkers,se b will nov  sadisty

e anonjomidy g & ke exthonge hiu
ballo} wiX. otk vadey, e veswll
W\ Sharge.

3. State May’s theorem.

Majeciyy rule 15 He anly rule Yhay
Catis Hes PleQerties (V)W) For
Z Cndiddes Byshen
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